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QUESTION 1

Government must harness ICT to create new services, new citizens experience through new business models to
enhance efficiency and create growth. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 2

Which three layers SDN Architecture is divided into? (Multiple Choice) 

A. Infrastructure Layer 

B. Network Layer 

C. Controller Layer 

D. Application Layer 

Correct Answer: ACD 

 

QUESTION 3

Which of the following description about differences between Memory Database and Traditional Database is incorrect? 

A. The traditional database system is designed to handle permanent, stable data 

B. Memory database used to deal with real-time data 

C. The data processed by the traditional database is usually "short", that is, there is a certain effective time 

D. The memory database consists of full memory calculation and thermal memory calculation 

Correct Answer: C 

 

QUESTION 4

Which of the following vendor is only SSD vendor? 

A. Seagate 

B. Toshiba 

C. Western Digital 
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D. Huawei 

Correct Answer: D 

 

QUESTION 5

The bus bandwidth (that is, the volume of data that can be transmitted in a unit time) is calculated using the following
equation: Bus bandwidth (bytes/sec) = Frequency x Width 

A. TRUE 

B. FALSE 

Correct Answer: A 
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